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1. A 10 C point charge is located at the origin (0,0), and a second point charge of -10C is located at the point (5,0). The potential is taken to be zero at infinity.

(a) Find the total electric potential due to these charges at the point (5,0).

(b) How much work is required to bring a third point charge of -5 C from infinity to the point (0,5)? 

2. A 100-F capacitor is charged to a potential difference of 50 V. The capacitor is then removed from the charging source and connected across a second initially uncharged capacitor. The final potential difference across each capacitor after they have been connected in 35 V. What is the capacitance of the second capacitor? 

